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Enter Employee 1ID,

?

close file

Silly! Nothing input!

Last name, First name, and Monthly-salary
(Enter end-of-file indicator(CTRL+Z) to end input.)
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Enter Employee ID, Last name, First name, and Monthly-salary
(Enter end-of-file indicator(CTRL+Z) to end input.)
? B O# 56789

Invalid input.Try again!

1 % O# 56789

> 2 +k O¥% 3456a

Invalid input.Try again!

? 2 #k O% 34567

? 3 % Ok 23488

? 4 # O=% 56789

? 53 Ok 55555

?

close file

There are 5 employees considered

Average Salary in this month: 45437.6

Highest Salary in this month: 56789.0

Lowest Salary in this month: 23488.0

o

53 Ssalarytxt” A x A

1 % O 56789.0
2 % O% 34567.0
3 % O% 23488.0
4 + O= 56789.0
5 % (% 55555.0
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Type the end-of-file indicator to terminate input:
On UNIX/Linux/macO5 type <Ctrl> d then press Enter

On Windows type <Ctrl: z then press Enters

1jEnter the fruit type Chosen (integer values
1:Apple(28/pound) 2:Banana(18/pound)
p]

&

Apple price:28@.8

1)Enter the fruit type Chosen (integer values
1:Apple(28/pound) 2:Banana(1@8/pound)
? 3 20

Papaya price:680.8

1jEnter the fruit type Chosen (integer values
1:Apple(28/pound) 2:Banana(1@/pound)

? 2
Banana price:58.8

2

1jEnter the fruit type Chosen (integer values
1:Apple(28/pound) 2:Banana(18/pound)
? 4 1@

Watermelon price:100.8

1)Enter the fruit type Chosen (integer values
1:Apple(28/pound) 2:Banana(1@/pound)
?

Selling Report:

Total selling price is 5@

in the range 1-4) AND 2)Pounds Weighted
3:Papaya(3@/pound) 4:wWatermelon(18/pound)

in the range 1-4) AND 2)Pounds Weighted
3:Papaya(3@/pound) 4:wWatermelon(18/pound)

in the range 1-4) AND 2)Pounds Weighted
3:Papaya(38/pound) 4:wWatermelon(18/pound)

in the range 1-4) AND 2)Pounds Weighted
3:Papaya(38/pound) 4:Watermelon(18/pound)

in the range 1-4) AND 2)Pounds Weighted
3:Papaya(38/pound) 4:wWatermelon(18/pound)
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public class CollectionArrayList4Colors {
public static void main(String[] args) {
String[] colors = { "RED", "Green","BLUE", "CYAN", "MAGENTA", "YELLOW","WHITE", "GRAY",
"BLACK"};
List<String> list = new ArrayList<String>();

for (String color:colors) {
list.add(color);

System.out.println("ArrayList: ");
for (int count = @; count < list.size(); count++) {
System.out.printf("%s ", list.get(count));

String[] removeNeutrals {"GRAY", "BLACK", "WHITE"};

List<String> removelList = new ArrayList<String>();

for (String color : removeNeutrals) {
removelList.add(color);

removeColors(list, removelist);
convertTolLowercaseStrings(list);

System.out.printf("%n%nArrayList after converting to Lowercase and calling
removeColors:%n");
for (String color:list) {
System.out.printf("%s

, color);

}

}//end main

private static void removeColors(Collection<String> collectionil,
Collection<String> collection2) {
Iterator<String> iterator = collectionl.iterator();

while (iterator.hasNext()) {
if (collection2.contains(iterator.next())) {
iterator.remove();

}

}//end removeColors

private static void convertTolLowercaseStrings(List<String> list) {
ListIterator<String> iterator = list.listIterator();

while (iterator.hasNext()) {
String color = iterator.next();
iterator.set(color.toLowerCase());

}

}//end convertTolLowercaseStrings

}//end class CollectionArraylList4Colors



